Math 371 - Fall 2011 - 10/25/2011 - Quiz #11

Name: @ ‘:‘?

L Show all work clearly and in order. Please box your answers. Due 10/27/2011.

Score: out of 10.

Seat:

1. An 8-pound weight stretches a spring 8 feet. Assume a damping force numerically equal to the

instantaneous velocity acts on the system. Suppose the weight is released at the equilibrium position
with downward velocity of 1 ft/s.

boe (a) Find the equation of motion.
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(b) What is the velocity of the weight after 1 second (approximate to the nearest hundredth)?
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